DU MA Japanese

Topic:- JAPAN MA S2

1) WMEFCHEZAT, WANRBIEELTLET,

A T—

[Question ID = 1082]
1. THAT

[Option ID = 4322]
2. AT

[Option ID = 4323]
3. BAT

[Option ID = 4324]
4. 21\T

[Option ID = 4325]
Correct Answer :-
o ZHZT

[Option ID = 4323]

2) #EBOBIC, RES%EL,
#B{—

[Question ID = 1084]
1. 297

[Option ID = 4330]
2. LK

[Option ID = 4331]
3. F<

[Option ID = 4332]
4. £S5

[Option ID = 4333]
Correct Answer :-
o Fh(

[Option ID = 4332]

3) BR#ASE, SFSECHMBERATS,
axs%—

[Question ID = 1086]
1. LHBNT

[Option ID = 4338]
2. 7=NT

[Option ID = 4339]
3. MBI T

[Option ID = 4340]
4. MH&T

[Option ID = 4342]
Correct Answer :-
o HMHAT

[Option ID = 4342]

4) BERONIE, F3THEVLICRAE,

Eo

[Question ID = 1088]



1. &

[Option ID = 4346]
2. k&

[Option ID = 4347]
3. &

[Option ID = 4348]
4. &

[Option ID = 4349]
Correct Answer :-
o %

[Option ID = 4346]

5) wHOMENICEREAND,
-

[Question ID = 1090]
1. EHEL

[Option ID = 4354]
2. hHign

[Option ID = 4355]
3. &HAEN

[Option ID = 4356]
4, HOBEL

[Option ID = 4358]
Correct Answer :-
o HOEL

[Option ID = 4358]

6) ShLW,. ELVEER., DERTRERFEL.
ELW—

[Question ID = 1092]
1. oLk

[Option ID = 4362]
2. LEELL

[Option ID = 4363]
3. HBPELL

[Option ID = 4364]
4. HELL

[Option ID = 4366]
Correct Answer :-
o HLL

[Option ID = 4366]

7) BRPRR.FHELI5CERALESIFVL,
I

[Question ID = 1094]
1. LN

[Option ID = 4370]
2. LhtBh

[Option ID = 4371]
3. LAITF

[Option ID = 4372]
4. Lhnly

[Option ID = 4374]

Correct Answer :-
o Lhth



[Option ID = 4371]

8) EBEETZ0Q. AEOWERTEDTHAE.
BT

[Question ID = 1096]
1. <Ly

[Option ID = 4378]
2. H<Ly

[Option ID = 4379]
3. H<LwD

[Option ID = 4380]
4. Fp5Lw

[Option ID = 4381]
Correct Answer :-
o HLy

[Option ID = 4379]

9) ENEBMATD,
R#H—

[Question ID = 1098]
1. UL

[Option ID = 4386]
2. RANLS

[Option ID = 4388]
3. FADLS

[Option ID = 4389]
4. INH

[Option ID = 4391]
Correct Answer :-
o (FANLD

[Option ID = 4389]

10) BRI ENTHLEEEFIRBIDS,
a5

[Question ID = 1100]
. EFD

[Option ID = 4394]
2. FQ

[Option ID = 4395]
3. &%

1

[Option ID = 4396]
4. F85

[Option ID = 4397]
Correct Answer :-
o TY

[Option ID = 4395]

11) BBRBEICOVTEZZLLS,
miE—

[Question ID = 1102]
1. ChES

[Option ID = 4402]
2. hhELD

[Option ID = 4403]
3. hh&D



[Option ID = 4404]
4. A<D

[Option ID = 4406]
Correct Answer :-
o NhELD

[Option ID = 4403]

12) B ULEFEEICHBLTELL,
[

[Question ID = 1104]
1. @2

[Option ID = 4410]
2. 2%

[Option ID = 4411]
3. FG

[Option ID = 4412]
4. (ThD

[Option ID = 4413]
Correct Answer :-
o D

[Option ID = 4411]

13) FHOBEEEETAETT,
BHE-

[Question ID = 1106]
1. (FLLwd

[Option ID = 4418]
2. EhUn>

[Option ID = 4419]
3. [FLvBLD

[Option ID = 4420]
4. ThBEI

[Option ID = 4421]
Correct Answer :-
e Zhb4d

[Option ID = 4421]

14) Rk, LR2EREFEIDSHFEZ TN,
Do h—

[Question ID = 1108]
1. HiE
[Option ID = 4426]

2. BX

[Option ID = 4427]
3. BR

[Option ID = 4428]
4. fxie

[Option ID = 4429]
Correct Answer :-
* 2R

[Option ID = 4427]

15) FAOBICEERTIE. LosRCTIVENHS.

Lt -




[Question ID = 1110]
1. BB

[Option ID = 4434]
2. FH

[Option ID = 4435]
3. B2

[Option ID = 4437]
4. £1§

[Option ID = 4438]
Correct Answer :-
o Ei

[Option ID = 4435]

16) NADHEEIFH,

Fn5—

[Question ID = 1112]
1. &5

[Option ID = 4442]
2. FO

[Option ID = 4443]
3. 15

[Option ID = 4444]
4. 1L

[Option ID = 4446]
Correct Answer :-
o 1.5

[Option ID = 4444]

17) AFERZOT. HWEIATRITET .
FLEo2-

[Question ID = 1114]
1. B

[Option ID = 4450]
2. 8%

[Option ID = 4451]
3. 28]

[Option ID = 4452]
4. Bxg

[Option ID = 4454]
Correct Answer :-
o

[Option ID = 4454]

18) L&ThIF. AREFTLOTIVBIEDCETHD,
LiTh—

[Question ID = 1116]
1. 5

[Option ID = 4458]
2. EIf

[Option ID = 4459]
3. £

[Option ID = 4460]
4. BER

[Option ID = 4461]

Correct Answer :-
o EJE



[Option ID = 4459]

19) MCEEDTICLYRINT S,
-

[Question ID = 1118]
1. RS

[Option ID = 4466]
2. #8

[Option ID = 4468]
3. %

[Option ID = 4470]
4. B

[Option ID = 4471]
Correct Answer :-
e RXE

[Option ID = 4471]

20) XK. #AAAMDT B,
A —

[Question ID = 1120]
1. [l

[Option ID = 4474]
2. RE

[Option ID = 4475]
3. &%

[Option ID = 4476]
4. ZEit

[Option ID = 4478]
Correct Answer :-
o %t

[Option ID = 4478]

21) I YV (Edison) (., ELTEE2HLLTE,
Z2HLv—

[Question ID = 1122]
1. %R

[Option ID = 4482]
2. %8

[Option ID = 4483]
3. ®H

[Option ID = 4484]
4, FT

[Option ID = 4485]
Correct Answer :-
o 3B

[Option ID = 4483]

22) SECADEER, BVWREFEHVIINHSEHLLN.

FOIH—

[Question ID = 1124]
1. &R

[Option ID = 4490]
2. 17

[Option ID = 4491]

3. =T



[Option ID = 4492]
4. F=

[Option ID = 4493]
Correct Answer :-
o (&M

[Option ID = 4490]

23) ENE. ARIDREZICKEBREERLLE,
-

[Question ID = 1126]
1. B=
[Option ID = 4498]
2. B
[Option ID = 4499]
3.

[Option ID = 4500]
4. FZ

[Option ID = 4501]

Correct Answer :-
o A
[Option ID = 4500]

24) fHld, RELEHRLVVILRGEVRBAE.
Bhhh—

[Question ID = 1128]
1. BF
[Option ID = 4506]
2. B
[Option ID = 4507]
3. £fF

[Option ID = 4509]
4. B

[Option ID = 4511]

Correct Answer :-
o HE

[Option ID = 4506]

25) RB®D___ = EEBZIT.REBEMNELLI.
[Question ID = 1130]

LAJL [Option ID = 4514]

J¥5 A [Option ID = 4515]

F¥ )l [Option ID = 4516]

8=tV I [Option ID = 4517]

A W N -

Correct Answer :-
e /Y52 [Option ID = 4515]

26) HERAIC—ATAEE____ L,
[Question ID = 1132]

MAM3 [Option ID = 4522]

RBRBH [Option ID = 4523]

5€% [Option ID = 4524]

555 [Option ID = 4525]

A w N =

Correct Answer :-
e S5Kh5b [Option ID = 4525]

27) BRFIC, BAREERLR, LTUFo,

[Question ID = 1134]

1. E&FZE [Option ID = 4530]

2. AbADB [Option ID = 4531]



3. ¥EEE [Option ID = 4533]
4. [3%(4# [Option ID = 4535]

Correct Answer :-
o Y'&EZEE [Option ID = 4530]

28) AYI_____ BROELCBIHE,
[Question ID = 1137]

(32D [Option ID = 4538]

%2<" [Option ID = 4540]

1D [Option ID = 4542]

[Z2ZD [Option ID = 4543]

A W N -

Correct Answer :-
e Z-¢M [Option ID = 4540]

29) ABERBOLSICEERASZET___ KLY,
[Question ID = 1138]

1. ¥ [Option ID = 4546]

2. % [Option ID = 4547]

3. [ [Option ID = 4548]

4. h [Option ID = 4549]

Correct Answer :-
e /' [Option ID = 4546]

30) BH®IF__ AEE B0,
[Question ID = 1139]

1. # [Option ID = 4550]

2. T [Option ID = 4551]

3. % [Option ID = 4553]

4. |C [Option ID = 4554]

Correct Answer :-
e (C [Option ID = 4554]

31) HEEHMATHS__ RRICHERGNMHERTLHD.
[Question ID = 1141]

1. h [Option ID = 4558]

2. & [Option ID = 4559]

3. % [Option ID = 4560]

4. % [Option ID = 4561]

Correct Answer :-
e ¢ [Option ID = 4559]

32) SERIICEILT___ BEFBETHS.
[Question ID = 1143]

1. 13 [Option ID = 4566]

2. [Z [Option ID = 4568]

3. % [Option ID = 4569]

4. %. [Option ID = 4571]

Correct Answer :-
e % [Option ID = 4571]

33) Hk. ABAATIHRER. & EFZphWCEkor,
[Question ID = 1145]
&4 [Option ID = 4574]
T4 [Option ID = 4575]
% [Option ID = 4576]
[Z% [Option ID = 4577]

A wWwN -

Correct Answer :-

e (% [Option ID = 4577]

34) RIIRHETHD __ FRRFCHEALB/NRKRTLHS.
[Question ID = 1147]

1. 1 [Option ID = 4582]

2. & [Option ID = 4584]

3. & [Option ID = 4586]

4. % [Option ID = 4588]

Correct Answer :-
e ¢ [Option ID = 4584]



35) $BH(CESLT___ BENBETHS,
[Question ID = 1149]

1. & [Option ID = 4590]

2. T% [Option ID = 4591]

3. H'b [Option ID = 4592]

4. [Zt [Option ID = 4593]

Correct Answer :-
e (% [Option ID = 4593]

36) RENED__ ONTHEABILRENTLES,
[Question ID = 1151]

1. % [Option ID = 4598]

2. [C [Option ID = 4599]

3. 1 [Option ID = 4600]

4. % [Option ID = 4602]

Correct Answer :-
e (C [Option ID = 4599]

37) ®IF,HEBEM____ ELISVAFBLEEDS,
[Question ID = 1153]

1. h [Option ID = 4606]

2. % [Option ID = 4607]

3. [C [Option ID = 4609]

4. 3 [Option ID = 4610]

Correct Answer :-
e 7 [Option ID = 4606]

38) #MENEDEL | ARDEFLERCBOTER,
[Question ID = 1155]

1. % [Option ID = 4614]

2. T [Option ID = 4615]

3. #¥ [Option ID = 4616]

4. [Z [Option ID = 4617]

Correct Answer :-
e (Z [Option ID = 4617]

39) BEGMRENVENS. BRI DLERRIEBHVEL,
[Question ID = 1157]

&2k [Option ID = 4622]

[Fo& [Option ID = 4623]

Z-& [Option ID = 4624]

-t [Option ID = 4626]

A wWw N =

Correct Answer :-
e Z-o¢ [Option ID = 4626]

40) 1VRAFYPTCSFHO__ [, SAT—FERBEERDET,
[Question ID = 1159]

1. & [Option ID = 4630]

2. B [Option ID = 4632]

3. 72U [Option ID = 4634]

4. HHD [Option ID = 4636]

Correct Answer :-
e [ [Option ID = 4632]

41) HABERILBANGZ, ZEESEI____
[Question ID = 1161]

& v [Option ID = 4638]

% [Option ID = 4639]

%(\ [Option ID = 4640]

Z&h [Option ID = 4642]

A W N -

Correct Answer :-

e () [Option ID = 4640]

42) ARBEWSEOIE, VONFED_
[Question ID = 1163]

1. C& [Option ID = 4646]

2. £ 0 [Option ID = 4647]



3. (3 [Option ID = 4648]
4. NIF [Option ID = 4649]

Correct Answer :-
o £ [Option ID = 4647]

43) #FEE. EX2EA%____Thd,
[Question ID = 1165]

1. A% [Option ID = 4654]

2. [Eh0 [Option ID = 4655]

3. (3 [Option ID = 4656]

4. Tz% [Option ID = 4658]

Correct Answer :-
e A Z [Option ID = 4654]

44) fHEIICHZDE__ B OENELDODIBLIICBIDE,
[Question ID = 1167]

BH\F [Option ID = 4662]

#1\ [Option ID = 4663]

C [Option ID = 4664]

£Z% [Option ID = 4665]

A W N -

Correct Answer :-
e % [Option ID = 4664]

45) __ HEOANARFEZEAZIELSS,
[Question ID = 1169]

. B#n<{ [Option ID = 4670]

[#hD [Option ID = 4671]

LVMEH [Option ID = 4672]

. &T% [Option ID = 4674]

A wWw N =

Correct Answer :-
e BZ¥i1{ [Option ID = 4670]

46) RER.BOBR_____ M(R¥LE,
[Question ID = 1171]

[CE(FT [Option ID = 4678]

(3L T [Option ID = 4679]

[Z2LVT [Option ID = 4680]

[C&oT [Option ID = 4681]

A WN =

Correct Answer :-
e (CxfULT [Option ID = 4679]

47) B8N HINH. SHE BERATTOEINERLEN,
[Question ID = 1173]

#%F Lt [Option ID = 4686]

. &£T4 [Option ID = 4687]

. Fo7=< [Option ID = 4689]

TE3E(T [Option ID = 4690]

A W N -

Correct Answer :-
o 3L [Option ID = 4686]

48) BEROELR., I5VALOERN _____ MEL,
[Question ID = 1175]

. BhIF [Option ID = 4694]

. &> [Option ID = 4695]

. %% [Option ID = 4696]

. D [Option ID = 4697]

A W N =

Correct Answer :-

e 1 [Option ID = 4696]

49) #ELLOM_ TRELD, WAW3EHEICEDNS.
[Question ID = 1176]

1. [3& [Option ID = 4698]

2. FT [Option ID = 4699]

3. 7Z[F [Option ID = 4700]

4. BRD [Option ID = 4701]

Correct Answer :-
e (I¥ [Option ID = 4698]



50) BIRO_____ . HLLERSFDOHL,
[Question ID = 1177]
. EMQ [Option ID = 4702]
. ¥E[ [Option ID = 4703]
. JEE [Option ID = 4704]
. %% [Option ID = 4705]

A wWw N =

Correct Answer :-
o #E8 [Option ID = 4705]

51) COE, BREhIIHEE XY=
[Question ID = 1178]

1. 1A% [Option ID = 4706]

2. {KF4L) [Option ID = 4707]

3. {kd [Option ID = 4708]

4. {KhT [Option ID = 4709]

Correct Answer :-
e {Kkd [Option ID = 4708]

52) BRADKCOMAICEKS_____ HHd.
[Question ID = 1179]
&9 [Option ID = 4710]
N [Option ID = 4711]
#< [Option ID = 4712]
¥ [Option ID = 4713]

A W N -

Correct Answer :-
o X [Option ID = 4711]

53) JIOAE___ ELEN., #IFhTLHEOR,
[Question ID = 1180]

1. &ofz [Option ID = 4714]

2. &35 [Option ID = 4715]

3. &k [Option ID = 4716]

4. &3 [Option ID = 4717]

Correct Answer :-
e &35 [Option ID = 4715]

54) KEHRZEENSZW. _ BJ#HEB.,
[Question ID = 1181]

. &ZANH [Option ID = 4718]

L7zh*>T [Option ID = 4719]

. E5LTE [Option ID = 4720]

Lh\e [Option ID = 4721]

A wWw N =

Correct Answer :-
e L7zh>T [Option ID = 4719]

55) RIVUT4PEB__ #HECEEKTS,
[Question ID = 1182]

[ZB8&N T [Option ID = 4722]

. ®@UT [Option ID = 4723]

[ZRUT [Option ID = 4724]

[Z5£31-T [Option ID = 4725]

A W N -

Correct Answer :-
o Z@&UT [Option ID = 4723]

56) BEzRMIE___ | &8LE,
[Question ID = 1183]

& [Option ID = 4726]

55(C [Option ID = 4727]

&5 [Option ID = 4728]

£LT4H [Option ID = 4729]

A W N -

Correct Answer :-

e &% [Option ID = 4728]

57) TERL______ TEZ3LBATEDBWLEIDN WL,
[Question ID = 1184]

1. {EIC [Option ID = 4730]
2. 13AT [Option ID = 4731]



3. I3k [Option ID = 4732]
4. PNIZ [Option ID = 4733]

Correct Answer :-
e (HI(Z [Option ID = 4730]

58) MFEH_____ BOoIFL__ DB LB G LTINS,
[Question ID = 1185]

1. Yo%,/ %5 [Option ID = 4734]

2. B®./K® [Option ID = 4735]

3. LU [Option ID = 4736]

4. ELVIMELDD [Option ID = 4737]

Correct Answer :-
o E(\IN &I [Option ID = 4737]

59) coNVaVE___  EEW,
[Question ID = 1186]

1. {EH1E<H-ST [Option ID = 4738]

2. {f-THT [Option ID = 4739]

3. {#L\T [Option ID = 4740]

4. fEoT% [Option ID = 4741]

Correct Answer :-
e {H>THT [Option ID = 4739]

60) RMICERNKOERCEY, BEEMIZ. _ REMSES,
[Question ID = 1187]

1. HE(C [Option ID = 4742]

2. & [Option ID = 4743]

3. LhL [Option ID = 4744]

4. [Th&#H [Option ID = 4745]

Correct Answer :-
e T [Option ID = 4742]

61) bod___ ENPELLEINLVGLDE,
[Question ID = 1188]

1. $H<oTz [Option ID = 4746]

2. ZHofz [Option ID = 4747]

3. &UIC [Option ID = 4748]

4. &Lz [Option ID = 4749]

Correct Answer :-
e %oz [Option ID = 4747]

62) FRLRIVERLTHE, T=7HBoKDED IR ESE,
[Question ID = 1189]

. #0_L [Option ID = 4750]

. ENHbH [Option ID = 4751]

. ZO&HE [Option ID = 4752]

. §3& [Option ID = 4753]

A W N -

Correct Answer :-
e J3& [Option ID = 4753]

63) 3. =IcENHB
[Question ID = 1190]
. 1#(Z [Option ID = 4754]
. hzhi [Option ID = 4755]
fZhvi [Option ID = 4756]
. &% [Option ID = 4757]

A wWwN =

Correct Answer :-

e /=i [Option ID = 4755]

64) EFfRE. BREAETLEEN_ HMEROFEKEEZD.
[Question ID = 1191]

1. [ZHMMFT [Option ID = 4758]

2. [ZETWT [Option ID = 4759]

3. [ZHFT [Option ID = 4760]

4. |2%5T [Option ID = 4761]

Correct Answer :-
o (ZE-J\T [Option ID = 4759]



65) —ERPoZENBL__ | EFICENFTHR,
[Question ID = 1192]

[CLTIE [Option ID = 4762]

(29T [Option ID = 4763]

&HN [Option ID = 4764]

ELVH&D [Option ID = 4765]

A wWw N =

Correct Answer :-
e (CLCIE [Option ID = 4762]

66) HiE. BFEOEICEANTVE ENT. IKRER/ED_
[Question ID = 1193]

1. LEWEDTE [Option ID = 4766]

2. UZIFETE [Option ID = 4767]

3. LBLWIF%E [Option ID = 4768]

4. Lzt07 [Option ID = 4769]

Correct Answer :-
o L7z:07 [Option ID = 4769]

67) COSVFAZa1—IF, FAH ESETVWRETET,
[Question ID = 1194]

1. R [Option ID = 4770]

2. M55 [Option ID = 4771]

3. Md [Option ID = 4772]

4. &N [Option ID = 4773]

Correct Answer :-
® ()d [Option ID = 4772]

68) HDFOH. B FHLTHOLWTT R,
[Question ID = 1195]

1. T=UIC [Option ID = 4774]

2. DL\TIC [Option ID = 4775]

3. &BNIC [Option ID = 4776]

4. ¥ [Option ID = 4777]

Correct Answer :-
e /=UfIC [Option ID = 4774]

69) 3043ZI3ITCCICEE_  &paFHAN,
[Question ID = 1196]

1N T [Option ID = 4778]

1EHEET [Option ID = 4779]

1EFHHET [Option ID = 4780]

1EFEAN T [Option ID = 4781]

A w N =

Correct Answer :-
o 1E¥HEET [Option ID = 4779]

70) ES5LTEWNECEE._ EULBULATTH,
[Question ID = 1197]

B L4 [Option ID = 4782]

E%7 [Option ID = 4783]

EZ5 [Option ID = 4784]

E A& [Option ID = 4785]

A W N -

Correct Answer :-
e [EZ [Option ID = 4784]

71) ATEEB DO HEERRDATT B, ECHVWVRERREAMDFEBAD., |
B [ RAEEEICIT-T 1

[Question ID = 1198]
1. BB D

[Option ID = 4786]
2. RTHLLTLLOD

[Option ID = 4787]
3. REBTERLLOTTA

[Option ID = 4788]
4. HizpEITLLOIN



[Option ID = 4789]

Correct Answer :-
o HIenEITLLIN
[Option ID = 4789]
72) BehitFEeLENE, A &
[Question ID = 1199]
JEhB %oz [Option ID = 4790]
. JEhB%S [Option ID = 4791]
SEh Loz [Option ID = 4792]
BEh LS [Option ID = 4793]

A W N -

Correct Answer :-
e JFEA U5 [Option ID = 4793]

73) TLE.RBWRS___
[Question ID = 1200]

2L\&WVT [Option ID = 4794]

SHLELVT [Option ID = 4795]

D[FELT [Option ID = 4796]

SHZELVT [Option ID = 4797]

A w N =

Correct Answer :-
e ;HL&LVT [Option ID = 4795]

74) #BEESHOETHL
[Question ID = 1201]
1. FHENTLV% [Option ID = 4798]
2. &N5HETLV3 [Option ID = 4799]
3. #1nNTLV% [Option ID = 4800]
4. FpESBTLV3 [Option ID = 4801]

Correct Answer :-
e N TL\3 [Option ID = 4800]

75) ANCHEHShTIUHT o
[Question ID = 1202]

1. REER-TCIEELY [Option ID = 4802]

2. toL7EERSS [Option ID = 4803]

3. BHOEREE>THEL [Option ID = 4804]

4. BHAORAICKNDOULVE [Option ID = 4805]

Correct Answer :-
o HHYOXRAIZEHNDLVE [Option ID = 4805]

76) RitoBEE__
[Question ID = 1203]

#ah's [Option ID = 4806]

2% [Option ID = 4807]

(2871 [Option ID = 4808]

[C&H 5 [Option ID = 4809]

A W N -

Correct Answer :-
e [ZH7=N [Option ID = 4808]

77) W& ERBWAB,_ — ATHEHFVTRWIEEA.
[Question ID = 1204]

. &o7z< [Option ID = 4810]

LT [Option ID = 4811]

. Thth [Option ID = 4812]

. $ZT [Option ID = 4813]

A w N =

Correct Answer :-
e RLT [Option ID = 4811]

78) HBEMLOFEE LTS,
[Question ID = 1205]

#33 [Option ID = 4814]

5hd [Option ID = 4815]

#,d» [Option ID = 4816]

#EL#H [Option ID = 4817]

A WN -

Correct Answer :-



e ZLds [Option ID = 4816]

79) &H#lCA-R__ [ ERERT—AELLERLHE,
[Question ID = 1206]

. &oh\7 [Option ID = 4818]

7% [Option ID = 4819]

. h'b [Option ID = 4820]

?OT [Option ID = 4821]

A W N -

Correct Answer :-
e Z-o/N\(F [Option ID = 4818]

80) WBEH. AEFJETICLONBEB5D,
[Question ID = 1207]

. FAT [Option ID = 4822]

. Fo7={ [Option ID = 4823]

f={&h [Option ID = 4824]

. TZL\5 [Option ID = 4825]

A w N =

Correct Answer :-
e Fo7z< [Option ID = 4823]

81) XFKRZICAETED AR
[Question ID = 1208]

1. &&%% [Option ID = 4826]

2. ®IF3 [Option ID = 4827]

3. PR3 [Option ID = 4828]

4. 1E%% [Option ID = 4829]

Correct Answer :-
e [E? [Option ID = 4828]

82) RE%®__ . FShlCH=-E,
[Question ID = 1209]

1. LT [Option ID = 4830]

2. MHT [Option ID = 4831]

3. LT [Option ID = 4832]

4. i3> T [Option ID = 4833]

Correct Answer :-
e J&ELT [Option ID = 4830]

83) U3A2____ _ EREZOYTIRME,
[Question ID = 1210]

1. C&IC [Option ID = 4834]

2. £0IC [Option ID = 4835]

3. &I [Option ID = 4836]

4. ZEIC [Option ID = 4837]

Correct Answer :-
e t[C [Option ID = 4837]

84) WBL\WBEREL_ | BEULLSERDULE,
[Question ID = 1211]

. FTIC [Option ID = 4838]

. I [Option ID = 4839]

15F(C [Option ID = 4840]

. hbIZ [Option ID = 4841]

A wWN =

Correct Answer :-
e 3K[C [Option ID = 4839]

85) Xl JEERT-RRBLETHS.
[Question ID = 1212]

. BIENB [Option ID = 4842]

. &£% [Option ID = 4843]

. 1\33 [Option ID = 4844]

. 173 [Option ID = 4845]

A W N -

Correct Answer :-

e (1% [Option ID = 4845]

86) EWBEMMHHTH.
[Question ID = 1213]



#E%t(C [Option ID = 4846]
— % [Option ID = 4847]
44X [Option ID = 4848]
DL [Option ID = 4849]

A W N -

Correct Answer :-
o {fExt(C [Option ID = 4846]

87) EKICTIHNTERY ., ZRHELS 7z,
[Question ID = 1214]

(\>C3 [Option ID = 4850]

OIZ [Option ID = 4851]

. —75 [Option ID = 4852]

. &B(Z. [Option ID = 4853]

A W N -

Correct Answer :-
e —75 [Option ID = 4852]

88) fikn. EATFA)AAR-IEh . BERICE
[Question ID = 1215]

1. W3IEF7 [Option ID = 4854]

2. V339 Tld%L) [Option ID = 4855]

3. WVELMEITFHL [Option ID = 4856]

4. LW\ELEFE [Option ID = 4857]

Correct Answer :-
e \ZL\E 7 [Option ID = 4857]

89) HLVIAVEa1—-SE FET. FHL__
[Question ID = 1216]

1. ®7 ) [Option ID = 4858]

2. (<L) [Option ID = 4859]

3. 7Zh'i [Option ID = 4860]

4. &LV5 [Option ID = 4861]

Correct Answer :-
e [Z<|\ [Option ID = 4859]

90) R(E. HOEEESAD CTRICEDELE,
[Question ID = 1217]

1. BL\T [Option ID = 4862]

2. T=¥IC [Option ID = 4863]

3. 7\ [Option ID = 4864]

4. BMFT [Option ID = 4865]

Correct Answer :-
o HHFT [Option ID = 4865]

91) NABEAS____ SHECHSMESEETS,
[Question ID = 1218]

1. ht [Option ID = 4866]

2. (22N T [Option ID = 4867]

3. (Fh&d [Option ID = 4868]

4. MIF [Option ID = 4869]

Correct Answer :-
e (ZDNT [Option ID = 4867]

92) BARBRBELVS, PEE__ TREW,
[Question ID = 1219]
[F& [Option ID = 4870]
. ZT [Option ID = 4871]
. &% [Option ID = 4872]
. h'b [Option ID = 4873]

A w N =

Correct Answer :-
e (F¥ [Option ID = 4870]

93) KEVNVEE___ BUOWTULH-E,
[Question ID = 1220]

% [Option ID = 4874]

T [Option ID = 4875]

& [Option ID = 4876]

|Z [Option ID = 4877]

A WN -



Correct Answer :-
e (C [Option ID = 4877]

94) BEERBR,. BHSOENNFEREZOEONF___ FHLTWS,
[Question ID = 1221]

1. |2 [Option ID = 4878]

2. % [Option ID = 4879]

3. & [Option ID = 4880]

4. T [Option ID = 4881]

Correct Answer :-
e & [Option ID = 4880]

95) chid. F#iIc___ 1o TWSHLBR]E,
[Question ID = 1222]
F T [Option ID = 4882]
&4, [Option ID = 4883]
5 [Option ID = 4884]
A% [Option ID = 4885]

A w N =

Correct Answer :-
e FT [Option ID = 4882]

96) REEF____ RH-THINE,
[Question ID = 1223]

1. %& [Option ID = 4886]

2. [C [Option ID = 4887]

3. T [Option ID = 4888]

4. % [Option ID = 4889]

Correct Answer :-
e % [Option ID = 4886]

97) BAROHULXILRE., LHDEE Z[ITW%,
[Question ID = 1224]

1. | [Option ID = 4890]

2. T [Option ID = 4891]

3. % [Option ID = 4892]

4. & [Option ID = 4893]

Correct Answer :-
e % [Option ID = 4892]

98) AFTAMEE, HE%/ESD ROMBBVEDTHS.
[Question ID = 1225]

1. %& [Option ID = 4894]

2. T [Option ID = 4895]

3. [ [Option ID = 4896]

4. 2 [Option ID = 4897]

Correct Answer :-
e (C [Option ID = 4897]

99) HEQ/NEFOMBM____B{(TRERVLDE,
[Question ID = 1226]

1. [Z [Option ID = 4898]

2. T [Option ID = 4899]

3. % [Option ID = 4900]

4. ¥ [Option ID = 4901]

Correct Answer :-
e (C [Option ID = 4898]

100) RPICEBNODEHCESD, BEEMTIS. _  REHSHES,
[Question ID = 1227]

1. E(Z [Option ID = 4902]

2. &% [Option ID = 4903]

3. LU [Option ID = 4904]

4. [Th&#® [Option ID = 4905]

Correct Answer :-
e FH(C [Option ID = 4902]





